item# qty. item# qty.
50ED 1 100P 5
50E 2 T00PLT 1
50E-LST 1 100PL2 1
50E-LS2 1 100PL3 1
100PL4 1
50E-LS4 4 100P-L1 3
50E-LSH 7 100P-L2 1
100P 100PWLT Aconlr@;hgmﬁz 100PWL1 100P-L1 100P=L3 1
oopLl] Sogrss S0 [ooeLe 50F-LS7 1 100P-L4 |
% e m 50E-LS8 1 100P-L5 1
wSowlz SOE-1S10 50E-LS W_oo?z 50E-LS9 1 100P-L6 2
. 50E-LS10 1 100PWL1 5
50E-7/1 50EML =5 100PWL2 1
TUOPIL 100PWLA 50EML-5/1 100PWL3 _
50EM-6/1 1 100PLM 1
1100P o | 100 S0EM—7/1 | |
M ﬁ S0EM-8/1 1
50F DEM-6)1 __ 50E
S0EM-8/1 e .
100PWL? N ) 50ELS7 i) 1o0PwLs
100PL2Y| sgF-Ls1 0EpLE . |l 100PL3
S%lg o%Tza%gz S%la
wall panel layout
\\/\/ Zhejiang Putian integrated housing Co.,Itd
%\.\/ Hangzhou Zhongpu ArchitectureDesign & Research Group
Project name ltem Project No. designer Proportion
PTZXW1C061 XXX 1:80
Finland project wall panel layout Catagory Date Page
Proposal | 2012.12.31 01

A4:210x297




1.

M10*25 location

note:use to connect top frame and column,bottom frame and column

column

top

bolt
SM10*25

! column

.voﬁﬁOaj .
top and column connection

bottom and column connection

2. M14%35

location

M14*35

|MWMvA

roof truss and corner block connection

note:truss not placed at the corner

with big head on the top beam

top frame

s connected by self—tapping screw

¢
-
&

T

=T

o

S S B e L S S, e SR

STS

SI12/2

T T

A

STS

ST12/1 .

e R R R S, O

(AN

(AN
\03/

\03/

ST2/1. ST2/2.ST3 wrap fittings location
note:ST2/1,ST/2/2 wrap for column. ST/3 wrap for top beam

3.

column and

M16 location

pottom connection

two co

M10*25

tainers connection

M16*80

two

golum

M16*30

8.8s

containers connectipn

M10*25

80*16*120

n and bottom |connectioy

cushion plate
80*16*120

column

cushion plate

bottom corner block connection

corner

block connection

AN

Zhejiang Putian integrated housing Co.,Itd
Hangzhou Zhongpu ArchitectureDesign & Research Group

P T H
Project name ltem Project No. designer Proportion
PTZXW1C061 XXX 1:80
Finland project location of bolts Catagory Date Page
Proposal | 2012.12.31 02

A4:210x297




XPS=1,XPS—-2,XPS—3,XPS—4 location

column column
KPS-2 KPS—2 KPS-2 KPS-2
KPS—1 KPS-1 KPS—1 KPS-1
/ / / /
77
10mm _:mm_k_ﬂ_%\_h: laver PVC inner corner decorative strip  PVCinner corner decorative LE 53%%%%%
interior wall interior wall

A

1:10 wrap fittings on column detail

top

XPS—4

decorative strip_for to

nterior wall

C

1:10 wrap fittings on top beam detal

B

wrap fittings on column detail

1:10

dmm steel sheet+10mm insulation+12mm laminate floor

18mmpylwood+12mmlaminate floor

corruga

connection floor detail
1:10

PU insulation

color steel sheet for cover

AN

P T H

Zhejiang Putian integrated housing Co.,Itd
Hangzhou Zhongpu ArchitectureDesign & Research Group

Project name

Finland project

ltem

connection detall

Project No. designer Proportion
PTZXW1C061 XXX 1:80
Catagory Date Page
Proposal | 2012.12.31 03

A4:210x297




[@N] [@N]
. N .
= MR =
= =
waveform color steel sheet(horizontal)
VYTV T VYW 0.42*6400*520
WIVIL—1 VY1V I 0.42*4900%590)
roof truss+corrugated color steel sheet _
L1 = =
i = i
= =
= = ﬂ N
B | C1
b o] — — 0
Woﬁ 6058 “o%
/914 | |
waveform color steel sheet
0.42*320*520
end of purlin WML=3
universal bracket ” . :
\\/\/ Zhejiang Putian integrated housing Co.,Itd
~ RN Hangzhou Zhongpu ArchitectureDesign & Research Group
0.42+300#520 _P_T_H _
: Project name ltem Project No. designer Proportion
A B PTZXW1C061 XXX 1:80
Finland project roof detall Catagory Date Page
Proposal | 2012.12.31 03

A4:210x297




7314

H —3 H —3 H —3 = —3 M — H — M o
%) %) % % U it 2
— (\) W o) o1 O ~
1200. 75 1200. 75 1219 1219 1200. 75 1200. 75
| | | | | | !
Title: 3
W]
Project: PTH12066
Client: L Job: o Date: 2013-1-10




G'16L—

Title: wj — Tsl
Project. PTH12066
Client: L Job: L Date: 2013-1-10




LOM

G'16L—

Title: wj — Ts2
Project. PTH12066
Client: L Job: L Date: 2013-1-10




G'16L—

Title: wj — Ts3
Project. PTH12066
Client: L Job: L Date: 2013-1-10




G'16L—

Title: wj — Tsb
Project: PTH12066
Client: L Job: L Date: 2013-1-10




G'16L—

Title: wj — TsT7
Project: PTH12066
Client: L Job: L Date: 2013-1-10




LOM

G'16L—

Title: wj — Ts8
Project. PTH12066
Client: L Job: L Date: 2013-1-10




LOM

G'16L—

Title: wj — Ts9
Project. PTH12066
Client: L Job: L Date: 2013-1-10




	PTZXW1C061(安装) Model (1).pdf
	2.pdf
	3.pdf
	4.pdf
	PTH12066-roof truss assembly drawing.pdf

